Problem 1. [20 points]

Your room on the lower deck of cruise liner is below sea level and is heated to a comfortable 25°C. The
water outside is 5°C. One of your walls is the hull of the ship. The hull is S5cm steel with a thermal
coefficient of 15 W/m-°C. The wall area is 12m”. You can ignore the ceiling, floor and other three walls
of your room in this problem.

(a) What is the rate of heat transfer through this wall?

(b) Your heater is a heat pump operating at its ideal Carnot performance. How much power must be
supplied to the heater?



Problem 2. [20 points]

A hot rock of mass m=10 kg at a temperature T=1500 K is placed into a container which is filled with
1m’ of water at a temperature of 300 K. The specific heat of water can be approximated as 4kJ/kg-K and

the specific heat of the rock is 1kJ/kg-K. The density of water is 1 g/cm3.

(a) What is the final temperature of the rock and water?

(b) What is the entropy change of the rock?

(c) What is the entropy change of the water?

(d) By how much did the height of the water change due to heating alone (ignoring the bigger effect of the
addition of the rock) if the container has a depth of 2m and a surface area of 0.5m?*? The coefficient of
volume expansion of water is 2x107¢/°C.



Problem 3. [14 points]

A thunderstorm gets energy by condensation of water vapor in the air. Suppose that the storm condenses
all the water vapor in 10km’ (ten cubic kilometers) of air. Assume that at the conditions of the storm there
is 100% relative humidity and that this corresponds to .02 kg of water in every cubic meter and a heat of
vaporization of 2x10°kJ/kg.

(a) How much heat is released by the storm through this condensation process?
(b) How many kilotons of TNT does this correspond to if kiloton of TNT releases 4x10'J.



Problem 4. [32 points] A heat engine uses n moles of an ideal gas as its working substance. The ideal gas

c
has a ratio of specific heats —- = . The quantity ¥ should be left as a symbol anywhere it
c

v

appears in the answers to the questions below.

The engine has the following three-step reversible cycle. It starts at State 1 where the gas has temperature
T, and volume V. The steps are:

1. From State 1 to State 2: An expansion at constant pressure from V, to V,
2. From State 2 to State 3: A decrease in pressure at constant volume V,
3. From State 3 to State 1: An isothermal compression to volume V;

(a) [8 points] Sketch this cycle in a P-V diagram. The sketch does not need to be to scale. The direction of
each step should be indicated with an arrow and the States should be labeled 1, 2, and 3. Indicate V, V,
on the plot.



b) [20 points] Find Q, W and AS at States 1,2 and 3, and fill in the table below. Do not use the fact that
the sum of AS must be zero when you calculate AS.

W Q AS

| = L

(c) [4 points] Verify that AS summed over all three steps is zero.



Problem 5. [14 points]

‘(a) A physicist is studying a sample monatomic gas in a container (the volume of the container is V). The
mean free path of an atom is10” m when the gas is at T=400°K and at atmospheric pressure.

What is the mean free path if the volume of the container is reduced to V/2? Assume the
temperature and number of particles is held fixed.

(b) The surface of an object has area A=10m” is at 300°K emissivity of 0.8. What happens to the object if
it is in a dark room with walls at 200°K? Write an equation for what you expect will happen; you do not
need to solve it. You can use a symbol for any physical constants you need so long as you define them. In

particular, the Stephan-Boltzmann constant is o, . You do not need to evaluate anything numerically.



